[ InterkX 19 ( .Hi182) ]
InterKX VerH18.2
Z
Ver.H18.2 2
Ver.H18.1
=2
|
19 4
o8 121
9.8 5.8
e
(1)
5
4
(2)
19
5
4
6 1
3)
(4)
7 4
/ (
(1) 4
Ver.H18.20
4 4
93,000 1,005,000
4

1/74



(2

4
2 3 4
2
4
93,000 1,005,000
()
() =
19 4
1 150
1 200 540
4 1 3 31
540 540
(0]
(1)
4 1 3 31
540
(2)
19
12
(3)
4
Ver.H18.20 4 200
1,000 540
540
()
= > >
( ) = >
19
6 7
12

274



(1)

;

~N|o|R

[N
N

B e P B o)

EER

BT GRS

d

S

T RRmuE

Rl

THETH (BRESTEH)

fRR{RE

==

AT F7

Excel(F12) ‘ AR

HRENHZE

REEERINA 58

kL]

ik

REETY

EhF =

*RENHZE

REREM A ER

Hik

(e iy

MAEES

Eee i

1RPETY

iR (d4~12H]

| TARIHEI EE L= .

[TEEREGCHIEANALET,

(2

(3)

(F10)
4

18
Ver.H18.20

12

3/4

18



m( )
19 4 1
1000 0.05
[ J
()
|
19 4 1
@)
1000 195 1000 15.0
1000 8 1000 6
[ _J
19
19 4 3
{ VerH18.2
i InterKX Ver.H18.20 VerH18.20el
2007 4
InterKX VerH18.10el
InterKX VerH18.20

VerH18.20el

4/ 4



